NHC 152 - SKiM63

Rth(s—a) IGBT Rth(s—a) Diode

50 % glycol, 10 I/min

@Tyg=25C ) (K]
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When Rth is required for 1 switch it have to calculate as follows:

Rin(s.a) PEr SWitch IGBT = Ryye.q) IGBT X 6 = 0,0164 K/W x 6 = 0,0984 K/W

Rin(s-a) Per switch Diode = Ryys.q) Diode x 6 = 0,0187 x 6 = 0,1122 K/W
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NHC 152 - SKiM93

50 % glycol, 10 I/min
@Tig=25°C

Rth(s_a) IGBT Rth(s_a) Diode
[K/W] [K/W]
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Z,(s-a) @ 25°C, 10l/min, 50% water / glycol
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Ryp(s.a) @ 25°C Rin(s-a) = T (Triia) @ 101/min
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When Rth is required for 1 switch it have to calculate as follows:
Rin(s-a) Per switch IGBT = Ryps.5) IGBT x 6 = 0,0118 K/W x 6 = 0,0708 K/W
Rin(s-a) P€r switch Diode = Ry (s.o) Diode x 6 = 0,015 x 6 = 0,0900 K/'W
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